KEY

Task 1: An analogy is a kind of comparison that shows how things are related. The second
pair of the words must be related in the same way as the first pair. Circle the letter of the
correct word.
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Task 2 Read the story and supply the questions.

Q1: Who gave one of the most famous speeches in the American history / the Gettysburg
Address? / Who was this speech given by? / Who was the speaker?

Q2: What speech did he give? / What is the speech called? / What was the name of the speech?
Q3: When did he give it/the Gettysburg Address? / When was this speech given?

Q4: Why did he/Abraham Lincoln/President Lincoln give it/the speech? / Why was it given?
Q5: Where was the cemetery (located)? / Where did he give the speech?

/5
Task 3 Fill in the gaps with the most appropriate word.
1.in 2. tongue 3. than 4. which 5. rest
6. these/them 7. by 8. to 9.in 10. as
11. since 12. rather 13. such 14. for 15. Another
/15
Task 4 Use the map to answer the Task 5 Rosewood started a recycling
questions. The approximate time zones programme. The city delivered a large
are shown on the map. (You have to use container to each home. The label below
the states named on the map.) am & pm was attached Use it to answer the
must be indicated questions.
1) one
(1) no ( .
@) 10 am (2) nothing /
(3) Washington 4) California 5 ffee/ none
Seattle Los Angeles ( 4) yes
(5) Colorado ) }CS
(6) Florida (5) on the curb
(7) 7 am (0) 8am
(8) later (7) (be) emptied (8) (be) rinsed
9) 2 pm 9) d / both
/9 (10) City of Rosewood
/10

Task 6 You are going to read a magazine article about the discovery of some dinosaur
bones. Six sentences have been removed from the article. Choose from the sentences A-G.

1. 2. 3. 4. 5. 6.
F B G C A E

/6



Task 7 Use the words in capitals to form a word that fits in the space in the same line.

1.

learner

fluency

communication

easily

idiomatic

necessity

impression

incorrectly

N e RS BN Bl Bl B

qualified

—_
e

explanations
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Task 8 Read the text and match the words in sralics with their meaning.
1. 2. 3. 4. 5. 6. 7. 8. 9. 10. 11. 12.
c e h i | g b f a Kk d ]
/12

Task 9 Complete the second sentence so that it has a similar meaning to the first sentence,

using the word given. Do not change the word given. You must use between 2 and 5 words,
including the word given.

1.

didn’t let him /refused to let him/wouldn’t let him

were prevented from getting

taking care of

had been in touch with / got in touch with /kept in touch with

carry out the manager’s

no comparison between / not any comparison between

A I Ah Bt Bl B S

what made Sam/him/her leave

Task 10 Read and extract from a short story and circle the correct reply.
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Task 11 The missing words of the following sentences are homophones. (4 homophone is
a word that is pronounced like another word but has a different spelling and meaning.)
Between the slashes you can see how to pronounce the missing words of the sentence. Fill

in the sentence with the correct words.

(1) a

b

(2) a

@b

3 a

3)b

(4)a

)b

pause

paws

manner

manor

capitol

capital

hire

higher
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